EXIST CURVE  RAMP A-2
Pl STA = 318+93.04

EXIST .CURVE RAMP A-1
PI STA = 310+39.44

A= 59° 287 237 ALT) A = 55° 1709”7 (RT)
D =-12° 19" 18" D = 7° 32 207

R = 465.00" R = 760.00°

T = 265.62" T = 398.04'

L = 482.67° L = 733.34'

E = 70.52° E = 97.93

e = 3% e = 8%

TR = e TR = ..

SE RUN . SE RUN

PC STA = 307+73.82 PC STA = 314+95.00
PT STA = 312+56.49 PT STA = 322+428.34

TRANS.  ATTAINED - - 313+67 TO 315+59
321+64 TO 323+56

TRANS. ATTAINED - 306+62 TO 308+30
311499 TO 313+17

EXIST CURVE RAMP B-2
PI STA = 409+54.12

EXIST CURVE RAMP B-1
PI STA = 407+62.98

EXIST CURVE RAMP B-3
PI STA = 418+16.13

PC STA 406+62.40 (§

STA 300+00.00 (B RAMP A) =

STA 692+00.68 (ROUTE 48)

STA 425+36.77 (B RAMP. B) =

STA 692+92.68 (ROUTE 48)

RAMP B) =

STA . 227+93.55, 103.97" LT (US 5D

T

P

STA 400+00.00 (B RAMP B) =

STA 234+54.03, 69’ LT WUS 5D

%,
<3

-

/ 7=

A= 15° 04 40" (RTY A= 27° 08 257 (RT) A = 137° 36' 50" (RT) "}/
D= 7° 32 207 D = 15° 04’ 40" D = 19° 05 557 RAMP A .
R = 760.00 R = 380.00" R = 300.00° ¢ . i STA 524+96.33 (§ RAMP C) =
T = 100.58 T o= sLT T = 773.7% S " 5>\ STA 241343.8L, 69 RT (U5 5D
L = 200.00 ‘L = 180.00° L = 720.55° — - ,(’”
EXIST CURVE RAMP B-l1 EXIST CURVE RAMP B-2 E = 6.63 £ = 10.91 E = 529.85' / 7 /{/ \
PI STA = 304+75.81 PI STA = 307+62.97 e = 8% e = 8% e = / /“ ,
A= 7042 30" RD A= 15° 04’ 40" R TR = TR = ooooe ~ \
D = 2° 03 45" D = 7° 32 207 SE RUN I = SE RUN = _____ PT STA 322+28.34 (B RAMP A) = S . / STA 623+95.43 (B RAMP D) =
R = 2,777.84' R = 760.00" PC STA = 406+62.40 PC STA = 408+62,40 PC STA = 410+42.40 STA 215+16.95, 907 LT (US 5D > STA 708+20.83 (ROUTE 48)
T = 187.14° T = 100.58’ PT STA = 408+62.40 PT STA = 410+42.40 PT STA = 417+62.95 ;/ o [ \ RaMP ¢
L= 37372 L = 200.00' TRANS. ATTAINED - 405+34 TO 407426 TRANS. ATTAINED - 417+5 TO 418+59 P /’ »/{’ \\ —
£ = 6.30' E = 6,63 / . // RAMP D \\ o
e = 8% 6 = 8% Py T
TR = TR = ... 7 -
SE RUN SE RUN = STA 322+478.35 (B RAMP A) - ’////y
PC STA = 302+88.67 PC STA = 306+62.39 STA 204+67.14, 69" LT (US 5D //;/"’
PT STA = 306+62.39 PT STA = 308+62.39 g PT STA 514+46.34 @ RAWP O) =
e STA 600400.00 (3 RAMP D) = STA 231+00.02, 90° RT (US 5D
EXIST CURVE RAMP B-3  EXIST CURVE RAMP B-4 STA 212+38.70, 69 RT (U5 &1 / ]
PL STA = 309+454.11 PI STA = 316+04.10 STA 500400.00 (B RAMP ©) =
A= 27° 08" 257 RT) A= 127° 49 447 RT) y/ PC STA 606+62.40 ( RAMP D) = STA T07+28.83 (ROUTE 48)
D = 15° 04" 40" D = 20° 50" 05" L STA 218+39.18, 103.97" RT (US 5D
R = 380.00' R.= 275.00" -
T = 9172 T = 56L70’ /
= 180.00" L = 613.53 e
= 10,91/ E = 350.41' 7
e = 8% e = BX s
TRz /
- SE RUN - -
PC STA = 308+62.39 PC STA = 310+42.39 //
PT STA = 310+42.39 PT STA = 316455.93 »
TRANS. ATTAINED - 316+08 EXIST CURVE FA 2-1 /
T0 317452 PI STA = 513+00.55 v
&= 5° 59 117 RN /
D = 1° 00" 00" o
o R = 5,729.58' EXIST CURVE RAMP C-1 EXIST CURVE RAMP C-2
EXIST CURVE US 51-2 T = 293.59' / PI STA = 521+88.86 PI STA = 513+46,92
PL STA = 124+0T.17 L = 59853 - &= 160° 55’ 13" RT) & = 15° 04' 40" (R
A= 28° 147 577 LD £ ey > D = 19° 05' 55" D = 7° 32" 207
D = 1° 59 59" . e EXIST CURVE US 51-3 R = 300.00° R = 760.00"
R = 2,864.99 She T 7 PI STA = 176+21.95 T = 1,785.10" T = 100.58'
T = 720,94 o, / A= 15° 25 597 (RT) L = 842.58' L = 200.00°
L = 1,412.56° SERUN = - D = 0° 30’ 00" - . .
128 PC STA = 510400.96 : ( £ = 1,510.14 E = 6.63
E = 89.32 2o R = 11,459.16 o = 87 o = 8
R PT STA = 515+99.59 T 1a52.10 .
TR = L = 3,086.63 SE RUN = -___ .
SE RUN --- E = 104.72 PC STA = 504+03.76 512+46.34
 PC STA = 116+86.23 e = PT STA = 512+46.34 PT STA = 514+46,34
PT STA = 130+98.79 TR TRANS, ATTAINED - 503+08  TRANS. ATTAINED - 513+82
TRANS. ATTAINED - 114454 TO 117+82 SE RUN = 10 504452 T0 515474
129+42 TO 132+80 PC STA = 160+69.23
STA 322+22.92 (§ RAWP B) = PT STA = 191+55.86
STA 512+31.73 (¢ RTE 2) TRANSITION ATTAINED - 159404 TO 151444 : .
STA 200+00.00 (§ RAMP A) = i 190476 TO 193+15 : ‘ EXIST, CURVE RAMP-B-t EXIST CURVE “RAMP:
STA 51i+42.07 (BK TAN RTE 2) | : e L A e - g
\ STA 322+28.09 (B RAMF 1) = PI STA = 6l0+25.18 RI STA = 617+93.40
[STA 512+39.34 (BK TAN RTE 2) A= 51° 020 037 (RT) A= 51° 03 08 (LT
STA 200+01.82 (B RAWP A) = D = 7° 32" 207 D = 12°19 18"
STA 511+41.49 (¢ RTE 2) \ STA 300+00.00 (8 RAMP B) = R = 760.00' R = 465.00'
STA 133%87.06, 69 LT (US 5D / T = 362.78" T = 222,05
\ - y L = 676.94' L = 414.32
\ - o STA 14245553 (S 51 = E = 82.1% £ = 50.30'
PC_STA 302+88.67 (B RAMP §) = \ \%‘” STA 59919887 (TR, 114 A e = 8% e = 8%
BT STA 130+98.79, 84.24' LT (LS 80 /), P - TR = _.___ TR = _____
P // ~ SERUN = _____ SE RUN = _____
/ PC STA = 606+62.40 PC STA = B15+77.35
" ) - 4 PT STA = 613+39.35 PT STA = 619+31.68
Zi; f;if;s:efffg;?ff%zssgl; /x TRANS. ATTAINED - 605+34 TO 607426  TRANS. ATTAINED - 614+65 TO 616+33
‘//// 612+73 TO 614485 619+36 TO 621+04
» /STA 726+92.82 (B RAMP C)
STA 140+99.81, 69" RT (US B
PROJECT BEGINS \\
STA. 120+00.00 \\ EXIST CURVE RAMP C-1 "EXIST CURVE RAMP C-2
‘ N STA 700+00.00 (§ RAMP ©) = Pl STA = 723+89.51 PL STA = T15+43.40
STA 527+49.26 (F.A. ROUTE 2 160° 57 B9 @) A= 15° 04 404 ®T)
D = 7° 320 20"
// ) STA 924+84.55 (@ RAMP D) = R = 760.00'
/ﬁ( RAMP C / 4 STA 528+44.51 (F.A. ROUTE 2) T = 100.58"
e, . \ y/ ; = 2060:;00'
o - = 6.63
/"/;rr/’ e T ')/;/ e = 8%
P e ~ - M
T — T R & e
SE RUN = oo
\ STA 133462.02 (US 5D = PC STA = 706+00.00 PC STA = T14+42.82
STA 519+95.03 (FA ROUTE 2 PT STA = 714+42.82 PT STA = 716+42.82
PT STA 716+42.82 @ RAMP C) = TRANS. ATTAINED - T05+04  TRANS., ATTAINED - 7i5+79
STA 13075151, 504 RT (US 6D 10 706+48 70 717+61
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